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If a certain weight of an alloy of silver and copper is mixed with 3 kg of pure

silver, the resulting alloy will have 90% silver by weight. If the same weight of

the initial alloy is mixed with 2 kg of another alloy which has 90% silver by

weight, the resulting alloy will have 84% silver by weight. Then, the weight

of the initial alloy, in kg, is

Click to see the correct answer

A) 3 —
B) 2.5

C) 4 Click to view video Solution

D) 3.5 for this question
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Anil can paint a house in 12 days while Barun can paint it in 16 days. Anil,
Barun, and Chandu undertake to paint the house for X 24000 and the three
of them together complete the painting in 6 days. If Chandu is paid in
proportion to the work done by him, then the amount in INR received by
him is (TITA)
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Mira and Amal walk along a circular track, starting from the same point at
the same time. If they walk in the same direction, then in 45 minutes, Amal
completes exactly 3 more rounds than Mira. If they walk in opposite
directions, then they meet for the first time exactly after 3 minutes. The
number of rounds Mira walks in one hour is (TITA)
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Qn 4 40 hrs of free CAT coaching
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A four-digit number is formed by using only the digits 1, 2 and 3 such that
both 2 and 3 appear at least once. The number of all such four-digit
numbers is (TITA)

Click to see the correct answer

Click to view video Solution
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Qn 5
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In a triangle ABC, £ BCA =50°. D and E are points on AB and AC, respectively,
such that AD = DE. If F is a point on BC such that BD = DF, then £ FDE, in
degrees, is equal to

A) 100
B) 80
C) 96
D) 72
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logisa +logsa iei
gis 9322 4 then a must lie in the range
(logisa)(logsza)

For a real number a, if

A)d<a<5 >
B)3<a<4 :
C)a>5
D)2<a<3

| uonnjos oapip

D

For more CAT Level questions Click > Questions.2lIM.com Original CAT 2021 Question Paper


https://iim-cat-questions-answers.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://youtu.be/6zpApyeKhl0?t=828

Qn 7/
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The arithmetic mean of scores of 25 students in an examination is 50. Five of
these students top the examination with the same score. If the scores of the
other students are distinct integers with the lowest being 30, then the
maximum possible score of the toppers is (TITA)
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Qn &
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One part of a hostel's monthly expenses is fixed, and the other part is
proportional to the number of its boarders. The hostel collects X 1600 per
month from each boarder. When the number of boarders is 50, the profit of
the hostel is X 200 per boarder, and when the number of boarders is 75, the
profit of the hostel is X 250 per boarder. When the number of boarders is 80,
the total profit of the hostel, in INR, will be

A) 20800

B) 20200 =

C) 20500 §

D) 20000 %
:
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Qn 9
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One day, Rahul started a work at 9 AM and Gautam joined him two hours
later. They then worked together and completed the work at 5 PM the same
day. If both had started at 9 AM and worked together, the work would have
been completed 30 minutes earlier. Working alone, the time Rahul would
have taken, in hours, to complete the work is

A) 12
B) 11.5
C) 12.5
D) 10
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Qn 10

The total of male and female populations in a city increased by 25% from
1970 to 1980. During the same period, the male population increased by
40% while the female population increased by 20%. From 1980 to 1990, the
female population increased by 25%. In 1990, if the female population is
twice the male population, then the percentage increase in the total of male
and female populations in the city from 1970 to 1990 is

online.2lIM.com

A) 68.75
<
B) 68.50 s
C) 68.25 3
D) 69.25 =
5
>
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Let ABCD be a parallelogram. The lengths of the side AD and the diagonal AC
are 10 cm and 20 cm, respectively. If the angle £ZADC is equal to 30° then the
area of the parallelogram, in sq. cm, is

A\25(\/§+\/E)
! 2

B) 25(v/5 +V15)

25(\/54+V15)
2

C)

D) 25(V3 +V15)

D
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A park is shaped like a rhombus and has area 96 sq m. If 40 m of fencing is
needed to enclose the park, the cost, in INR, of laying electric wires along its
two diagonals, at the rate of X125 per m, is (TITA)
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Qn 13

If 3x+2|y|+y=7andx+ |x]| +3y=1,thenx+2yis
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A)O
>
B) 1 2
Q) 4 e
3 -
8
D) S
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In a tournament, a team has played 40 matches so far and won 30% of
them. If they win 60% of the remaining matches, their overall win
percentage will be 50%. Suppose they win 90% of the remaining matches,
then the total number of matches won by the team in the tournament will
be

A) 86
B) 84
C) 78
D) 80
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Qn 15

A shop owner bought a total of 64 shirts from a wholesale market that came
in two sizes, small and large. The price of a small shirt was INR 50 less than
that of a large shirt. She paid a total of INR 5000 for the large shirts, and a
total of INR 1800 for the small shirts. Then, the price of a large shirt and a
small shirt together, in INR, is

online.2lIM.com

A) 150
B) 225
C) 175
D) 200
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Qn 16

Consider a sequence of real numbers x;, X,, X3, .. ... such that
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X,+1=x,+n-1foralln21.if x; =-1then x,y, =

A) 4949 >
B) 4849 %

C) 4850
D) 4950
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Qn 1/
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A tea shop offers tea in cups of three different sizes. The product of the
prices, in INR, of three different sizes is equal to 800. The prices of the
smallest size and the medium size are in the ratio 2 : 5. If the shop owner
decides to increase the prices of the smallest and the medium ones by INR 6
keeping the price of the largest size unchanged, the product then changes to
3200. The sum of the original prices of three different sizes, in INR, is (TITA)

| uonnjos oapip

D

For more CAT Level questions Click > Questions.2lIM.com Original CAT 2021 Question Paper


https://iim-cat-questions-answers.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://youtu.be/6zpApyeKhl0?t=2801

— online.2lIM.com

Visit online.2lIM.com,

IEI\MOIA as a trial user, learn 40 Hours for free

Visit - Questions.2lIM.com

Check out more than 1000+ CAT-Level Quant
Questions for free (without even signing-up)

D


https://iim-cat-questions-answers.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://iim-cat-questions-answers.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT

Qn 18

The number of distinct pairs of integers (m, n) satisfying
|1+mn| < [m+n]| < 5is (TITA)
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Qn 19
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The cost of fencing a rectangular plot is X 200 per ft along one side, and X
100 per ft along the three other sides. If the area of the rectangular plot is
60000 sq. ft, then the lowest possible cost of fencing all four sides, in INR, is

A) 90000

B) 160000
C) 120000
D) 100000
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Qn 20

If n is a positive integer such that (V10)(v/10)?. . ... . (V/10)™ > 999 then
the smallest value of n is (TITA)
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Qn 21
— online.2lIM.com

Bank A offers 6% interest rate per annum compounded half yearly. Bank B
and Bank C offer simple interest but the annual interest rate offered by Bank
C is twice that of Bank B. Raju invests a certain amount in Bank B for a
certain period and Rupa invests X 10,000 in Bank C for twice that period. The
interest that would accrue to Raju during that period is equal to the interest
that would have accrued had he invested the same amount in Bank A for
one year. The interest accrued, in INR, to Rupa is

A) 2436 =
B) 3436 S
(V)
C) 2346 =
D) 1436 =
>
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Qn 22
— online.2lIM.com

If f(x) = X2 = 7x and g(x) = x + 3, then the minimum value of f(g(x) -3x is

A) - 20

B) - 15 >
C)-12 :
D) - 16
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Solution

Click to go “Back to Answer page”
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1) A 11) D 21) A
2) 3000 12) 3500 22) D
3) 8 13) A
4) 50 14) B
5) B 15) D
6) A 16) C

17) 34

18) 12

19) C

20) 6
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SO I 1 — Click to see “overall Solution page”
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If a certain weight of an alloy of silver and copper is mixed with 3 kg of pure

silver, the resulting alloy will have 90% silver by weight. If the same weight of g?
the initial alloy is mixed with 2 kg of another alloy which has 90% silver by ol
weight, the resulting alloy will have 84% silver by weight. Then, the weight g
i : . =

of the initial aIon, " kg' > Click to go “Back to Question” 2
=

>
A)3 -

B) 2.5

<

C)4 Difficulty Level — §
D) 3.5 »
o

Topic — Ratios and proportions c

2.

>
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Sol 2

Anil can paint a house in 12 days while Barun can paint it in 16 days. Anil,

online.2lIM.com

Barun, and Chandu undertake to paint the house for X 24000 and the three g?
of them together complete the painting in 6 days. If Chandu is paid in ol
proportion to the work done by him, then the amount in INR received by g
him is (TITA) é
=
Correct answer: 3000
<

Difficulty Level — §

(On

Topic — Work and time c

o

>
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Sol 3

Mira and Amal walk along a circular track, starting from the same point at

online.2lIM.com

the same time. If they walk in the same direction, then in 45 minutes, Amal g?
completes exactly 3 more rounds than Mira. If they walk in opposite ol
directions, then they meet for the first time exactly after 3 minutes. The g
number of rounds Mira walks in one hour is (TITA) =
(V2]
=
>
Correct answer: 8 -
<
crpe o
Difficulty Level — o
S
Topic — Circular races c
2.
>
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Sol 4

A four-digit number is formed by using only the digits 1, 2 and 3 such that
both 2 and 3 appear at least once. The number of all such four-digit
numbers is (TITA)

online.2lIM.com

uol1sanD 01 oeg

Correct answer: 50

Difficulty Level — ‘

Topic — Combinatorics
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Sol 5

In a triangle ABC, £ BCA =50°. D and E are points on AB and AC, respectively,

online.2lIM.com

such that AD = DE. If F is a point on BC such that BD = DF, then £ FDE, in g?
degrees, is equal to ol

o

'8
A) 100 ,(_3,
B) 80 S
C) 96 —
D) 72

Diffculty Level - (RN |

Topic — Geometry
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Sol 6
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logisa +logs,a Qi
9152 7 99522 _ 4 then a must lie in the range

For a real number a, if
(logisa)(logzza) %
a3
o
A)d<a<5h o
B)3<a<4 g
o
C) a>5 S5

D)2<a<3

<
Difficulty Level — §
3
Topic — Logarithms c
=
-}
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Sol 7

The arithmetic mean of scores of 25 students in an examination is 50. Five of

online.2lIM.com

these students top the examination with the same score. If the scores of the g?
other students are distinct integers with the lowest being 30, then the ol
. . . o
maximum possible score of the toppers is (TITA) o
o

-

Correct answer: 92 g'
<

Difficulty Level - 3

wn

. o)

Topic — Averages c

2.

>
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Sol 8

One part of a hostel's monthly expenses is fixed, and the other part is

online.2lIM.com

proportional to the number of its boarders. The hostel collects X 1600 per g?
month from each boarder. When the number of boarders is 50, the profit of ol
the hostel is X 200 per boarder, and when the number of boarders is 75, the g
profit of the hostel is X 250 per boarder. When the number of boarders is 80, =
the total profit of the hostel, in INR, will be gr.
>

A) 20800
<
B) 20200 a
) Difficulty Level — ‘ o
C) 20500 a
D) 20000 Topic — Profit & Loss =
=
-}
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Sol 9

One day, Rahul started a work at 9 AM and Gautam joined him two hours

online.2lIM.com

later. They then worked together and completed the work at 5 PM the same g?
day. If both had started at 9 AM and worked together, the work would have ol
been completed 30 minutes earlier. Working alone, the time Rahul would ,Cc))
have taken, in hours, to complete the work is =
=
-}
A) 12 -
B) 11.5
<
€)12.5 Difficulty Level — §
D) 10 »
o)
Topic — Work and time c
2.
>
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Sol 10

The total of male and female populations in a city increased by 25% from

online.2lIM.com

1970 to 1980. During the same period, the male population increased by g?
40% while the female population increased by 20%. From 1980 to 1990, the ol
female population increased by 25%. In 1990, if the female population is ,Cc))
twice the male population, then the percentage increase in the total of male =
and female populations in the city from 1970 to 1990 is é’t
>

A) 68.75
B) 68.50 g_'
Difficulty Level — ®
C) 68.25 a
D) 69.25 Topic — Percentages %
@)
>
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Sol 11

Let ABCD be a parallelogram. The lengths of the side AD and the diagonal AC

online.2lIM.com

are 10 cm and 20 cm, respectively. If the angle £ZADC is equal to 30° then the g?
area of the parallelogram, in sq. cm, is ol
(@]
j@)
C
A\zs(\/§+\/ﬁ) B
) > g'
B) 25(v/5 +V15) -
Q) 25(\/54+V15)

2
D) 25(43 + V5) Difficulty Level - ‘

Topic — Geometry
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Sol 12

A park is shaped like a rhombus and has area 96 sq m. If 40 m of fencing is
needed to enclose the park, the cost, in INR, of laying electric wires along its
two diagonals, at the rate of X125 per m, is (TITA)

online.2lIM.com

Correct answer: 3500

[ uol1sanD 01 oeg

Difficulty Level —

Topic — Geometry
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Sol 13

If 3x+2|y|+y=7andx+ |x]| +3y=1,thenx+2yis

online.2lIM.com

>
(@)
3
A) 0 o
j@)
B) 1 -
4 >
C) - S
8
D) -

Diffculty Level - (ECHN |

Topic — Inequalities
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Sol 14

In a tournament, a team has played 40 matches so far and won 30% of

online.2lIM.com

them. If they win 60% of the remaining matches, their overall win g?

percentage will be 50%. Suppose they win 90% of the remaining matches, ol

then the total number of matches won by the team in the tournament will g

be =

=

-}

A) 86 -
B) 84

<

C)78 Difficulty Level — §

D) 80 w

@)

Topic — Percentages =

2.

>

D

For more CAT Level questions Click > Questions.2lIM.com Original CAT 2021 Question Paper


https://iim-cat-questions-answers.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://online.2iim.com/?utm_source=cat%202017%20Q1%20pdf&utm_medium=bottom&utm_campaign=CAT%202017%20Q1%20pdf&utm_content=PPT
https://youtu.be/6zpApyeKhl0?t=2211

Sol 15

A shop owner bought a total of 64 shirts from a wholesale market that came

online.2lIM.com

in two sizes, small and large. The price of a small shirt was INR 50 less than g?
that of a large shirt. She paid a total of INR 5000 for the large shirts, and a ol
total of INR 1800 for the small shirts. Then, the price of a large shirt and a g
small shirt together, in INR, is §
§.
A) 150 -
B) 225
<
C) 175 Difficulty Level — ‘ §
D) 200 o
Topic — Linear Equations c
@)
>
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Sol 16

online.2lIM.com

Consider a sequence of real numbers x;, X,, X3, .. ... such that =
X1 =X, +n-1foralln21.if x; =-1then x;o, = ?);

o
A) 4949 o
B) 4849 g’-
C) 4850 5
D) 4950

Diffculty Level - (ECHN |

Topic — Inequalities
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Sol 17

A tea shop offers tea in cups of three different sizes. The product of the

online.2lIM.com

prices, in INR, of three different sizes is equal to 800. The prices of the g?
smallest size and the medium size are in the ratio 2 : 5. If the shop owner ol
decides to increase the prices of the smallest and the medium ones by INR 6 ,Cc))
keeping the price of the largest size unchanged, the product then changes to =
3200. The sum of the original prices of three different sizes, in INR, is (TITA) éﬁ
>

Correct answer: 34
<
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Sol 19

The cost of fencing a rectangular plot is X 200 per ft along one side, and X

online.2lIM.com

100 per ft along the three other sides. If the area of the rectangular plot is g?
60000 sq. ft, then the lowest possible cost of fencing all four sides, in INR, is g
e

A) 90000 g
B) 160000 S
C) 120000 N—
D) 100000 <
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Sol 20

If n is a positive integer such that (V10)(v/10)?. . ... . (V/10)™ > 999 then
the smallest value of n is (TITA)
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Correct answer: 6
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Sol 21

Bank A offers 6% interest rate per annum compounded half yearly. Bank B

online.2lIM.com

and Bank C offer simple interest but the annual interest rate offered by Bank g?
C is twice that of Bank B. Raju invests a certain amount in Bank B for a ol
certain period and Rupa invests X 10,000 in Bank C for twice that period. The ,Cc))
interest that would accrue to Raju during that period is equal to the interest =
that would have accrued had he invested the same amount in Bank A for éﬁ
one year. The interest accrued, in INR, to Rupa is >
A) 2436 - =
B) 3436 Difficulty Level — o

(Tp)]

o)
C) 2346 Topic —SI & Cl =
D) 1436 2.
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Sol 22

If f(x) = X2 = 7x and g(x) = x + 3, then the minimum value of f(g(x) -3x is

online.2lIM.com

o

Q

(@)

Q

A) - 20 o
B) - 15 o
D

C)-12 =,
o

D) - 16 S
<
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